


Tutorial question 1c: (r-a)r=0 

• By inspection, two solutions are r=a and 

r=0. 

• Set up a coordinate system with x1 along a 

• If we consider the angle between r and a as 

, then both are at =0. 

• Choosing many values of  and drawing, 

points look like sphere of radius a/2 about 

point (a/2, 0, 0). 

• But how to prove?  (to go over in tutorial) 

 

 



Using equations, with a=au1 

• (r-a)r=(rr)-(ar)=0 

• rr=x1
2+x2

2+x3
2 

• ar=ax1 

• (rr)-(ar)=x1
2+x2

2+x3
2-ax1   

• But 

• so 

• So (rr)-(ar)=(x1-a/2)2+x2
2+x3

2-a2/4=0 

• Which is the equation for a sphere of radius 

a/2 at the point (a/2,0,0)  QED 
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